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CompSci 101 Test Results

Quedion Marks Out of
Question 1 20
Question 2 8
Question 3 10
Question 4 8
Question 5 8
Quedtion 6 6
TOTAL 60
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Question 1 (20 marks)
What is “printed” by each of the following pieces of Java program?

a) Systemout.print("a");
Systemout. println("\\b");

a\b
(2 marks)
b) Systemout.println("X" + 2 + 3);
Systemout.printIn((2 + 3) + "X");
X23
5X
(2 marks)
C) int value = 13;
bool ean big = (value > 54);
boolean little = (value < 20);
Systemout.printin(big || little);
Systemout.println(big & little);
true
fal se
(2 marks)
d) int i = 2;
int[] nunbers = {4, 2, -7, 5, 1, 6, 3};
Systemout.println (nunbers[i]);
Systemout.println (nunbers[i+i]);
-7
1
(2 marks)
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) String word =

" ABRACADABRA" ;
System out. println(word.indexOh('R));
System out. printl n(word.indexO ("DAB"));

_Pwe4_

FORENAMES: ...

CompSci 101 S2 C

f) String nane =

"Procrastination";
System out. printl n(name. substring(7,
System out . pri ntl n(name. substring(9));

(2 marks)

tina
nati on

0) int i =6, ]
if (i <8) {

if (j > 15){
System out. println("Line 1");

el se {

}

System out. println("Line 2");

}

System out. println("Line 3");

(2 marks)

Li ne 2
Line 3

h) int x = Math. max(Math. m n(5, 3),
int y = Math. mn(Mth. max(5, 3),

System out. println(x);
Systemout. println(y);

(2 marks)

(2 marks)
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i)
int[] nunmbers = {3,4,10,6,-9, 2, 3, 4};
int i = 0;
while ( nunbers[i] > 0 ) {
System out. println( nunbers[i] );
i = i+1;
}
3
4
10
6
(2 marks)
) _
int[] numbers = {3,4,10,6,-9, 2, 3, 4};
for (int i =0; i < nunbers.length; i++){
if ( nunbers[i]¥%B == 0 )
Systemout. println( nunmbers[i] );
}
3
6
-9
3
(2 marks)
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Question 2 (8 marks)

Complete the program given below. Whenthest art () method is executed, the user should be
prompted to enter two double vaues. The program should then calculate and display the harmonic
mean of the two values entered. The harmonic mean of x and y is:

2/ (Ux +1ly)
For example, the harmonic mean of 1 and 1 is 1, the harmonic mean of ¥2and %2 s ¥4, etc.

Look carefully at the two examples below. If you completethe st art () method correctly, the
output produced should be identical to that shown below:

Enter first nunber: 1
Enter second nunber: 3
Harnonic nean is 1.5

Enter first nunber: 0.25
Enter second nunber: 0.5
Har noni ¢ nean i s 0.333333333

Completethe st art () method below. Y ou canusethe Keyboar d. r eadl nput () method for
obtaining user input from the keyboard. Do not check for errors in the input. Assume that the user
does not input a zero for either of the numbers.

public class Harnoni cProgram {

public void start() {

Systemout.println("Enter first nunber: ");
String s1 = Keyboard. readl nput ();

doubl e d1 = Doubl e. parseDoubl e(s1);

System out. println("Enter second nunber: ");
String s2 Keyboar d. readl nput () ;

doubl e d2 Doubl e. par seDoubl e(s2);

doubl e nmean = 2.0/ (1/d1 + 1/d2);
Systemout. println("Harnonic nean is " + nean);

(8 marks)
CONTINUED
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Question 3 (10 marks)

Complete each of the methods below.

a)

b)

d)

CompSci 101 S2 C

/1 method to find the average of three nunbers
private double average(int x1, int x2, int x3){

return (x1+x2+x3)/3.0 ;

(2 marks)

/] method to decide whether an int is even
private bool ean i sEven(int n){

return ((n%) == 0);

(2 marks)

/1 method to join two strings,
11 with a blank in between them
private String join(String s1, String s2){

return (s1 + " " + s2);

(2 marks)

/1 method to print "EQUAL" or "NOT EQUAL" dependi ng on
/'l whether the two paraneter strings have exactly the sane

/'l sequence of characters

private void sayWet her Equal (String sl1, String s2){

if (sl.equal s(s2))
System out. println( “EQUAL");
el se
System out. println(“NOT EQUAL") ;

(2 marks)
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/'l method to display the first paraneter the nunber of
/1l times given by the second paraneter, with no spaces
private void reiterate(String s, int n){

for (int i=0; i<n; i++){
Systemout.print(s);
}

(2 marks)
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Question 4 (8 marks)

a Write amethod called saneFi r st AndLast (String text) whichacceptsaStri ng
parameter and returnsabool ean. The method should returnt r ue if the last character of t ext is
the same (including case) asitsfirst character. If the characters are different, the method should
returnf al se. You may assumethat t ext isnever nul |, butifitis"" the method should return

true.

private boolean saneFirstAndLast(String text){

if (text.length()==0)
return true;

char first = text.charAt(0);
char last = text.charAt(text.length()-1);

return (first==last);

(4 marks)

b. Using thesaneFi r st AndLast () method, complete the method i sSt ri ct Pal i ndr onme()
that returnst r ue if, and only if, thesingle St r i ng parameter is a strict palindrome (where both
case and punctuation have to be matched correctly). Y ou may test whether a string is a palindrome by
seeing if the first and last characters are the same and, in that case, whether the string in between the
first and last charactersis aso a palindrome. For example, “ATOYOTA” is a palindrome because the
first and last charactersare ‘A’ and “TOYOT” is apalindrome. Note that if s isaSt ri ng, the

St ri ng withfirst and last charactersremoved iss. substring(1,s.length()-1)

private boolean isStrictPalindrome (String text){
String s = text; // now see if s is a palindrone
while (s.length() > 1)
if (!sanmeFirstAndl ast(s))
return fal se;
S = s.substring(1,s.length()-1);

}

return true;

(4 marks)
CONTINUED
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Question 5 (8 marks)

This question makes use of the St ri ng methodspl it () to convert asentence St ri ng into

an array of word St r i ngs. For example:
String[] words = "The fat cat".split("\\s+");

will produce an array wor ds, of length 3, wor ds, so that wor ds[ 0] is" The",wor ds[ 1] is
"fat" andwords[ 2] is"cat".

(a) Complete the method get Wor d(Stri ng sentence, int i) tha will returnthe ith

word of the parameter St ri ng sent ence, counting from O. If there are lessthani+1 wordsin

the string, returntheempty String " ".

private String getWrd(String sentence, int i){
String words[] = sentence.split("\\s+");

if (words.length < (i+1))
return "";
return words[i];

(2 marks)

(b) Complete the method censor () that will take aparameter St ri ng sent ence and
produce a copy of sent ence with all of the four-letter wordsreplaced by " ****" . 'Y ou may
assume that the words of the input St r i ng are separated by single blanks but there is no blank
at its beginning or at its end.
private String censor (String sentence){

String result ="";

String[] words = sentence.split("\\s+");

for (int i = 0; i<words.length; i++){
if (words[i].length()==4)
result = result + "****"-
el se

result = result + words[i];
if (i!'=(words.length-1))
result = result + " ";

}

return result;

(6 marks)
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Question 6 (6 marks)

What is the output when the following program is executed? Note that the “helper” method
print Array|() just displays al of the elements of an array on one line.

/'l nystery program
public void start() {
int[] numbers = {1,1,1,1, 1};
print Array(nunbers);
bunp( nunbers, 1);
print Array(nunbers);
bunp( nunbers, 2);
print Array(nunbers);
bunp( nunbers, 3);
print Array(nunbers);
bunp( nunbers, 4);
print Array(nunbers);

}

/1 method to print an array of ints on one |line
private void printArray(int[] a) {
for (int j=0; j<a.length; j++)
Systemout.print(" " + a[j]);
System out. println();

}

/1 method to do sonething to an array of int nunbers
private void bunp(int[] nums, int Iimt) {
for (int j=0; j<limt; j++) {

nuns[j] = nunms[j] + nuns[j+1];
}
Show the output here:
11111
21111
32111
53211
85321

(6 marks)
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ROUGH WORKING (WILL NOT BE MARKED)
(You may detach this page from the answer booklet and use it for rough working)
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ROUGH WORKING (WILL NOT BE MARKED)
(Y ou may detach this page from the answer booklet and use it for rough working)



